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6 inYIItERz VS 8 ERAKIER
H= A=
IR HEE HEE IR
x| | R | m | R | mee| e | 2 |er axe| D) | T
1 TS 1t 4H = 420 1t 5H = 450 1
2 it [£3] 2NT +1 150 LL PAS 4
3 g nyiie] [£3] 3NT = 400 1t 3NT = 400
4 E=] [£3] 3H -1 -100 [£3] 3H -1 -100
5 it [£3] 3NT = 600 1t 3NT = 600
6 panyiie] 1t 3NT -3 -150 [ri] 2S +1 -140
7 E=] [£3] 4S = 620 [£3] 4S = 620
8 TS x 4H -1 50 1t 5Cx -3 -500 11
9 panyiie] 1t 2S +1 140 [£3] 3C -1 -50 5
10 | \WHB [£3] 4H = 620 [£3] 4H -2 -200 13
117 |swel & | 4s | +2 | 480 | 7 | as | +2 | -a80
12 | Edb 1t 2NT -1 -100 1t 3C -1 -100
13 | WH/ [ri] 3NT = -600 [ri] 3NT = -600
14 | WF x 4S +1 -450 [ri] 4S +1 -450
DATUMiT T

g ][z (1 CiESEES Y. X+ 33 1
Sfe/FAR 8 /e -29 ait 33 1
TR/ RRR = 29 12 B2Jo/RKE -8 V.P. 17.34 | 2.66




HR=fA%

%1% B2 K 2018%5H21H
4 JREERR VS 6 iFYIIER:
H= S
JKEERR R R JKEERR
x| | R | m | R | mee| e | 2 |er axe| D) | T
1 | ®&]| dt 4H +1 | 450 E3] 5H = 450
2 it x INT -3 150 x INT -2 100 2
3 g nyiie] [ri] 2S +1 -140 [ri] 2S +2 -170 1
4 WE=] 1t 4H = 620 1t 4H = 620
5 |mat] & [ onT | +2 | 150 | 46 | anT | = | 600 10
6 panyiic] 1t 4Sx = 590 [ri] 4H = -620 15
7 WE=] [ri] 4S -1 100 [ri] 4S -2 200 3
8 TS [ri] INT +1 -120 [£3] 3C -1 -50
9 panyiie] [£3] 4S -1 -50 [£3] 4S -1 -50
10 | \WHB [ri] 3S -1 100 x 3S -2 200 3
11 | YW 1t 3S = 140 [£3] 2S +1 140
12 | Edb [ri] 3D +1 -130 x 3NT -4 200 8
13 | WHB x INT +2 -150 [ri] INT +2 -150
14 | W [ri] 58S -2 100 1t 5D = 400 7
DATUM&iit iFE
JEiEERR a1 r: 5 ] 18 | 33
BRIFR/FMER 16 RchtE/FHR 21 &it 18 | 33
EXBR/ZEIFSE 21 ZEEPIT/ RS -16 V.P. 5.81 | 14.19
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8 FAKIER VS 4 JKIGE PR

H= A=
FARIER JeEERR JeEERR FARIER
x| | R | m | R | mee| e | 2 |er axe| D) | T
1 TS 1t 3D +1 130 1t 4D = 130
2 it [ri] 2NT -1 50 x 2NT -1 50
3 g nyiie] [ri] 2NT -2 200 [£3] 3S +1 170 1
4 E=] [£3] 4H +2 680 [£3] 4H +1 650 1
5 |mtl & | 70 | = |-1440] ® | 70 | = |-1440
6 g nyiie] [ri] 3NT +3 -690 [ri] 3NT +3 -690
7 | XNBIl E 5D +1 620 1t 5C +1 620
8 TS [£3] 3NT = 400 [£3] 3NT = 400
9 g nyiie] x 4Sx = -790 x 2S = -110 12
10 | \WHB [£3] 3D = 110 [£3] 3D +2 150 1
11 | X 1t 3NT = 400 [£3] 3C -2 -100 11
12 |kl & | a0 | 1 | s0 w | 20 | = | 110 4
13 | WH/ 1t 4H = 620 1t 4H +1 650 1
14 |wxl & | 2cx | 1 | 100 | & | 2cx | -1 | 100
DATUM%it iFEE

BRKilR e Je & ERR y. S+ ] 17 | 14
5 E R TNIEES 6 BRI /FIMBZR 4 Aait 17 | 14
2xEBENEDPTT -4 Z1F5</5%EH -6 V.P. 10.97 | 9.03




